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The fignirex in the mearsein indiopte full marvks,
Cundidates shawld aniwer in their oo weords and adiere o the word fimit as procticable.

Instruction

The candidate should indicate the correct Roll Number, Registration No,, Course Booklet SET on
the OMRE Answer-Sheet otherwise the Answer-Sheet will not be evaluated %ﬁlﬂdlﬂﬂlﬂ will be solely

respansible for i,
Each questton has four alternative answers. The candidme has t@nn‘iy one cirele/bubble on the
nd

Answer-Sheet using black/blue ballpoint pen indicating the correct ans 8 shown below, 1If more than one
answer / option is found darkened, then the question will be treated s@g will not be evaluated.

Example | @000 %
Answer all questions: / #3510 2ives Bag wias | ﬁ &1 g faE

1. 'I'he_:nvirlmmmt includes g)
(A) Abiotic factors (B) Biotic fm.lu (C) Both the above (D) None of these
*fffia wrate BrmmaE = -
(A) itwra {EJT'Q (C) TeuE (D)) T8 R o
GHTARY] SFRTa e

{' GaED (C) SrFT & (D) T o= B
srod an air pollutant?

N (B) Carbon dioxide (C) Nitrogen gas (D) Sulphur dioxide

(B) -5 WHEE (CO,)
(D) FFHT W2 W

Freiferiae aeg) g amg 9gwe 8 —

(A) a3 (B) & 815 SHGS

(C) ATEETH TArH (D) USFT §1§ HEUES

3. Which of the following is pof a method of water conservation?

(A) Ram water harvesting (B) Ground water extraction

(C) Jmproving imigation efficiency (D) Avoiding water wastage

[mtsre cilh o searwe =1fE wm -

(M) FRaf Faies (B) 9955 we [HE= (C) (76 793 S ([) e S7oi5 G
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Prerfefire sal &1 w1l oTe—RerE W) Uil B -

(A) THT TS HYET (B) Yoiel [FrenTe=

(C) it Sevara R (D) urfaT gouaTE] w6 1
4. Region where fresh water meets salt water s called

(A) Sen (B) Lake (C) River {[)) Estoarine

e iR o & T e oo -

(A) T (B) &% (C) 791 (D) Gt

arEl e ar Y gEE o Ae g -

(A) TH% (B) §1Te (C) 7T (D) HEr
g 5th June 1s observed as

(A) Warld forest day (B) World environment day

(C) World waldhfe day (1) World population da

& % G 1 T R

(A) T ey foberm (B) o «firaet T () Pl ety 1) T wrwe em

5w oy T g — \Q
(A) g &= 139w nﬁlﬁw@nﬁw

(C) e a=oumft s (D) e

6. Noise is measured using sound meter and the @b
(A) Hertz (B) Decibel Ky loule (1) Watt
e ! TGS B Wi oot o 2 C}@m .
(A) T0w (B) (sPas (C) ot (D) &,
goen =T s Tiftes R @‘l U Bl —
(A) Hertz (B3) %Sﬁl (C) Joule (D) Watt

7. Which of the followimgd$a von-renewable resource?

(A) Coal \ 3) Forest (C) Water (I} Wild life
frrstiEEne TwiD B ARRRFTT o §
(A) T C(B) 5 (C) =™ (D) T
i B GG 0 s G
(A) Brge (B) (C) Tt (D) Froira
B. Chipko movement was started to conserve
(A) Forest (B) Grassland (C) Desert (D) Soil
iz e (ufl SR o) o9 T -
(A) =@ (B) P15 (C) wwgiR (D) w4
et anateE @ GEaRr & B SN S0 sl e —
(A)FH (B) STt (C) T (D) wred
9, The Taj Mahal at Agra may be damaged by
(A) Sulphur dioxide  (B) Nitrogen (C"y Hydrogen ([}) Oxygen
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ity e Wiy urew i o Tl S o -

(A) FEPH BR-WWEE (B A (C) TR (D) =i Hess
IR HUD] AT FTEAAS AT GIS A 7 -
(A) HEH— BTG-S (B) TggroT
(C) BIEETHH (D) sraior
10, Red Datn Book provides datn on
(A) Red flowered plants (B) Red coloured fishes
(C) List of plants and ammals (I Endungered plants and animals
'S &6 7% (Red Data Book) 06 00 @4 o7 -
(A) e ofoia Bikw (B) #1e 3059 91
() Bfiw @ e (D) Fstvitamrs ThEw o o)
vE 3¢ 49 (Red Data Book) & =1 farfan wmer® e —
(A) T we B T @ A (B) YT TR ATEa
(C) Iafig aif veesrRgd (D) Heweus ?:Tgﬁ I¥[ B AN
11. Ex-gitu conservation includes .
(A) Zoo (B) Botanical garden (C) Germplasnibink (D) All of these
OH-T5 (Ex-situ) 7o 0 g Hofe = -

(A) Tfisete (B) Bfgw T {f:}
(Ex-situ) @ M= 08 —

(A) FafsarEn (B) F7ufey (:%\ﬁmfpamhﬁ (D) ST

12. Enfrigy Nlow in ecosysiem is
(A) Umdirectional (B) Ei{lircc‘(ugui (C) Multudirectional (D) None of these

ArgET e g —

i} (1)) TR FAw0E

(A) ] @ () s (D) e cpiaITeE s
iRy e awl ? -
(A) T Ft (C) e (D) F 9 Ee
13.  The source of Ermﬂrmm 1%
(A) ATP (B) Sunlighr (C) DNA (D) RNA
AT e T w1 —
{A) ATP (B) Fhtr (C) DNA (D)) RNA
miRTeufaE a3 nikes wia 8 —
(A) ATP (B) gt feram (C) DNA (D) RNA
14.  Drinking Muonde-containing water resulls i
(A) Fluorosis (B) Chlorosis (C) Minamatna () Malaria
W e OTEEA Y e -
(A) FrarF (B) i, () Farmr=iBt (D) W
TelTEs g O SIeAE-TE Y -
(A) TerreTg e (H) s (C) F=mmrer (1) weifear ar afretors
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15,  Indian Wildlife Protection Act was introduced in the vear

(A) 1850 (B) 1972 (C) 2010 (D) 2018
SIS A FEw Wi o e el oy -
(A) 1950 (B) 1972 (C) 2010 (D) 2018
R gt W6 SIE Sl Sy -
(A) 1950 (B) 1972 (C) 2010 (D) 2018
6. Growing agrneulural crops between rows of planted trees s known as
(A) Social forestry (B) JThum (C) Taungya system (D) Agroforestry
catfore s sl s e SR sl 5 -
(A) 7Tl Toa (B) 9 (C) T *hie (D) Plw a=pyes
TEEom et faa 9 dftem—atre -
(A) ol @i (B) 814 (C)efm st (D) 3l anfr
17, The main atmosphere layer near surface of carth is
{A) Troposphere (B} Mesosphere (C) Innuﬂphm (D) Stratosphere
*{5rem e 0 TS W - \Q
(A) e (B) caeAiFEnE (C) tmttil@ (D) Fiebieum
YuATE! HeTers) WA wer Aferem! argestm ﬂﬂg‘@_
(A) Troposphere (B) Mesasphere (C)lonpsphere (¥} Stratosphere

18.  Both power and manure is provided by
(A) Nuclear plants (B) Thermal P 161

il i @ m Tl e am -
(A} #RreiEs e Tesinng (om K\ (B) Sreffae

[E}tﬂﬂnﬁhﬂmwm %‘ (D) =y o
@ Es -

(A) UTHI] Ha @mﬂmm (C) T T A (D) At W

19, Common energysonteein Indian village is
(A) Electricif§ (B) Coal (C) Sun (D) Wood and animal dung
wime A wfea T age -
(A) fage (B) %1 (C) Fficeme (D) 13 & 2 7
HRAg AT SR T s B —
(A) Taaget (B) BIge (C) g4 (D) &raw1 & TEEes! 7w
20, Socred groves are especially useful in
(A) Genernting environmental awareness (B) Preventing soil erosion
(C} Year round flow of water in rivers (D) Conserving rare and threatened species
LG (NsE” (Sacred groves) O FoE o Bt -
(A) wldremt spesqar gk (1) f wrwe efeawrel
(C) 5TTia =TS e (D) F= 6 Ferrare =i s

1121 4
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Sacred Groves & SUifi &1 —
(A) SATERA SITHEHE] ST (B) wEta S e

(C) Tepf? FEeRgrdtE Jemae e (D) e al "Weens aviress eornt ff

21.  Which of the following series is true about energy flow ecosystiem?
(A) Producers—sDecomposers—»Consumers  (B) Decomposers—Consumers—»Producers

(C) Producers—Consumers—Decomposers (D) Consumers—Producers—Decomposers

AT =fiwe eag e (@ AEH0 H5% —
(A) Basivir — Rome — W (B) e — s — Eeeiie
(C) Berivs — e — RO (D) W — Tesims — FRomes
gritfrfas o= S aemsl M Fefaiea 59 gee &9 fas 81 7
(A) STUTEE —» AUHEHE — FUHIE (B) SqHETH —» IUNTEHET —» D
(C) Seqe® —» IUla —» ATHES (D) FopTaen —» WU
22, Most stable ecosystem is ((}
(A) Forest (B) Desert (C) Ocean Q\Q (D) Mountaimn
LI ST e ATWE BT \/\
(A) == (B) FgiE (C) =P (D) #He
winra fuy WAl o= 8 — %%
(A) T4 (B) &) “ﬂ\ | (D)) g
23, Study of trends in human population growihiand prediction of future growth is called
(AY Demography (B) Eiﬂgt‘ﬂlfll‘f!l' (CY Paleography () Psychology
ﬁmﬁmﬁﬁﬁmﬁqﬁiﬂmﬁmﬂm—
(D) AIELHEE

(A) CETRF (B) SCHME () wiffEraaird)
H SR afl A Wiy fera @ s afee -
(A) TTTRTE] By<itad (C) wiftrm e serms (D) seifasm

24,  Scientific study
(A) Ecosys

£ ctions of organisms with the physical environment s called
(B) Ecology (") Environment (137 Trophic structure

2| & B ere s S s SR A —
(A) Sy (B) s (C) e (D) =T 912
wig aifa e galaver & SRS SEYEEE A -
(A)uRRefm aa (B) wiRRufta (C) Tty (D) gfte HwE

25, In general, the Ecological pyramid always starts with the following at the base
(A) Decomposers (B) Producers (C) Consumers (1)) None of these
Mo areec Frafns o wai o esee e @ -
(A) Fcmess (B) Tesipn (C) =t (D) Gewa CoiE W
weroE nftfers Dufts w1 s i g 59 -
(A) SITEE (B) SeTa® (C'y IOt (D) FH uf gre=
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26. A population is o group of

(A) Individuals of a species (B) Spices in a Community
(C) Communities in an ecosysiem (D) Individuals in a family
WAL =] = —
(A) e e wm smit (B) F=mm W erefea Hull
(C) AEEHT THET T (D) *iRER sl afies =k
ARG WHE B —
(A) T&F Hariferen sfaas<s) (B) T3 wHamE) wafaass
(C) iRl aer wHErae (D) g wifdees @
27.  The *Environment Protection Act® was introduced in India in
(A) 1980 (B) 1986 (C) 2001 (1) 2010
SRS A S wle el T o A —
(A) 1980 (B) 1986 (C) 2001 ‘ﬁﬁﬂlﬂ
AT vAtERe e ARt site we g - ‘
(A) 1980 (B) 1986 (C) 2001 \\Q (D) 2010
28.  Recyeling refers to \/
(A) removal of resources () r:l@f’ resources
() reduction of water cycle [[@%vnl of gorbage
AR 40 R \\‘.

(M FHERHA WA (B) 5™#wa ’Iﬁlﬁ}aﬂj we-503F KTF (D) ST T3 =R

QU Recycling ®) sasandl sk

(A) TEEYETE §ETa7] (B) HHEESHIg O YA T

(C) STel—=a AT s34 % (D) FIERES Fera]
29.  The cause/caises of I:li loss 18

(A) Habitat loss \\B (B) Poaching of wildlife

(C) E‘Jvﬂr—l::plui I0=-TES0Urces (D) All of these

tetaibraa

(A) mm {H} SRR (C) T He=sigwa Srayits g (D) A FehE

oig fafder &) fAgfrs g wnw 8§ -

(A) WTEfoTe T e (B) g=roig®r fwmm oy sy
(C) W Wygr! St aTea (D) ArefsTr i
0. Acid rain is related to
(A) SO2 (B) O, (C) Methane (D) Halogen compounds
SHA (Acid rain) (ifba =0 spififfs — .
(A) S50; (B) O; (C) (Ft=rs) Methane (D) Ficmres cis
YT T -
(A S0 (B) O (C) Methane (D) Halogen compounds

112) &
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il.

32,

33,

. )

36,

1121

The main aim of Integrated Pest Managemem (1FM) 1s

(A) To destroy the harmful plants (B) To destroy the harmful insects
(C) To destroy the weeds (I3} To destroy the chemicals
e+ e (IPM) 55511 -

(A) wibes B apt  (B) wiEew (i@ wpt (C) SheR sy e (D) arnfe s am
peftad P i (IPM) 3 g5 999 81 —

(A) BTIEmRS qregv® A i (B) Britens fmeens e T
(C) STef) JTHETHE T 114 (1) TR TRETes AT 1
‘Silent valley” lies in the state of
(A) Bihar (B) Kerala (C) Tamilnadu (I3} Groa
% BE (Silent valley) GRS *ftaw WM -
(A) Fem (B) wIfg () et {2} Coml
Silent valley &7 Iw0mT @ o —
(A) faER (B) TTaETg (C) @vet w
Coral reefs in India can be seen n (2}
(A) Himalayan region (B) Hﬂduman,@h:uhnr [sland
(C) Goa (13} Hurnnlﬁ@
Eiwead SREb G (il =5 -
(A) TEmm S [E}Wﬁﬁmmﬂ %&6/ (D) b=
WINGHT TS &1 STaHl WETe — N
(A) fewrem B9 &}wﬁaﬂﬁﬂaﬁlﬁﬁmﬂﬁs
(C) e , () (D) Weires
The source of oxygen in the atmos, Iﬁé!is
(A) Carbon cycle (B) Groe i5 (C) Water (D) Nitrogen cycle
AnpraTE wiErsia Gew wE) A §
(A) 143 B 3 orger Efigw (C) wa (D) AELHTE= 5
4TS e B B -
(A) TiasT i (B) et gafiges  (C) it (D) Mg o6
Primary consumer 15 also called
(A) Herbivores (B) Carnivores (C) Omnivores (D) None of these
extelfi =i w0 (2 e +ffifre —
(A) ST (B) = (C) P (D) wrwa e =
wrafie SuviaTeg e —
Y (A) TTETET (B) AIATET (C) Tderd (D) T T BgH
An example of tertiary consumer is
(A) frog (B) snake (C) plant ([} msect
w8 +irwa (ST&H (Tertiary Consumer) Swizae @1 —
(A) e (B) # (C) Bigw (D) coirsl

7 Tam Ower
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T BY HiEwT g USEl aGuTEee B -

(A) =Imgen (B) ¥ (C) Sgig (D) -t
37. Minamata disease is associated with

(A) SO, (B) Mercury (C) NO; (D) pH

cata = R canei smifaie -

(A)SO; (HETFR SEawEs) (B) =i

(C) NOy (F1Ecres i) (D) pH

Minamata 37 Frsfefteg o3 o fg afta v —

(A) SO; (B)UIRT (Mercury)  (C) NO;,. (D) pH
38.  Anexample of in-situ conservation is

(A) Gene Bank (B} National parks  (C) Zoo (2} Botanical garden

In-sity FTHCR G0 SwEme Zoe -

(A) T s (Bywrdm B () B @#ﬂwm

In-situ ] TIET TETETY Bl

(A) it =i (B) ¥t e tcnﬁrﬁmﬁ(} (D) awrefer
39.  The number of Biodiversity Hotspol in India are

(A) 35 (B) 4

SREard iy terftaloa €51 (Biodiversity Hots

(A) 35 (B)4 (€)

WA Sty ffauer wewe {Eb@

(A} 35 (H)4 ‘ (C) 18 (D) 11

40.  An example of Biosphere

Ramr\(:}ﬂ\n‘din {5

l:.-'-"u} N nndﬂnl-mmm : (C) Jaldaparn (D) Buxa National Park
i TR
{ﬂlﬂw (C) srmieig (D) 3 wrEr Bwm
(C) SRR (D) T STt S

41.  The "Earth Summit' was held in the year

(A) 1992 (B) 1990 (C) 1989 (D) 2001

WA FOURA (Earth Summit) (281 750 w=fire 57 -

(A) 1992 (B) 1990 (C’) 1989 (13) 2001

gedl e (Earth Summit) Ba wosr -

(A) 1092 (B) 1990 (C) 1989 (D) 2001
42.  Ozone hole is prominent in

(A) Equatorial area  (B) Temperate zone  (C) Antarctica (D) Tropical area

G (" 20 S Cae] U —

(A) TS =i (B) & et swis () Seeiem (D) W e

1121 q
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O wTe W g uees -

(A) e Yaq (B) Fem & (C) FeTHiea (D) 9w wfeadra o=
43.  The main gas responsible for ‘global warming' is
(A) (s (B) Halogens (C) COy (D) N}
T el a3 e T S g -
(A) O (B) S0 (C) COy (D) NO,
Global warming ! @5 q@1 $9& 371 4 frener o —
(A) O; (B) &= (C) CO; (D) NOs
44.  An example of renewable energy is
(A) Coal (B) Petroleum (C) Solar energy (D) Firewood
AR (Renewable) #famm aafh Swiees o -
(A) == (B) caTivnm (C) et (D) ST 1
UYAV] SO B TR B —
(A) ®Tgar (B) wgiferr (C) ¥ awt (\@ AT
45.  Which amimal is worshipped by Bishnois of Rajasthan?
(A) Tiger (B) Lion (C) Black (D3} Camel
AerE RewE (Bishnois) 31 G @filvs o{re aga ¢
(A) 4 (B) Fre afael (D) &6
e BT ATNg (Bishnois) T gR°1 S5 T i —
(A) ae (B) ¥ C) @ Byor a1 59 (D) Fe
46. An Emmplu of a radipactive substance b()
(A) Arsenic (B) Tron &\ (C) Thorium 234 (D) SO.
(A) =T [E}% (1) cerferma 234 (D) 80,
HETHL I C ) TS | Bl —
(A) amifs B) oerA (C) Thorium 234 (D) SO;
47.  The main o energy in a forest ecosystem is
(A) trees (B} consumers (C) animals ([}) microorganisms
G0 Ferefi arerers wifisn et o e —
(A) e (B) S (C) = (D) ST e
g9 WISy S gy s 8 —
(A) TEET (B) SR (C) e (D) Heemitfars
48.  Development but not at the cost of environment is called
(A} sustainable development (B) unsustainable development
(C') non-sustainable development (D) none of these
“ofReera wie 3 Tufd ' gz i -

(A) FEfeHs Tafd (B) whfsfa Bafe (C) warl Sl (D) erwa e s

1121 o Turn Over
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UATERTTeE B AYNE B aeng Wi —

(A) B e (B)ardmy fism () TR &0 Beemer (D) @ Oie B
49,  The cause of Bhopal Gas Tragedy was

(A) CFC (B) DDT (C) MIC (D) None of these

el 911 O P —

(A) CFC (B) DDT (C) MIC (D) aTHE cEiTBE T

AT T AT W R B —

(A) CFC (B) DDT (C) MIC (1) & 9| BIEA
50,  The person who coined the term ‘ecology” was

(A) Bufo (B) Earmnest Haeckel (C) C.C Park (D) None of these

et “Fravmii wwiD TaE e -

(A) o (B) WPt e (C) BUF o (1)) A% EERATE wm

‘ecology’ ¥T& @1 FHIIEN W BT —

(A) T8 (B) 3T & (C) T, M wrﬂri(&*xm 4 4| BIEH
51.  The intensity of earthgquake is measured in /

(A) Decibels (B) Linnean Scale (C) Pﬂiﬁ@mlﬁ (D) Linear Scale

52,
(A)21.6 () 78.4 (D) 27.8
AT HISLCETT
(A)21.6 (C) 8.4 (D) 27.8
BRI AR @ LIGECE Sl
(A)21.6 (C) 78.4 (D) 27.8
53, Ozone |
(A) Sunlight cannot pass through it (B) Sunlight can pass through it
(C) UV rays can pass through it (D) UV rays cannot pass through it
et ue wzege] a8 s o1 —
(A) @7 e T = AP core #fiea ) (B) @7 sy fian ol A s =i

(C) o e oy =l e w7 (e =i (D) 2 e Figy =fe el Pl G #Hica =
"groirm-are Frefefe srie geEde ¥ -

(A) g fseor awae fod] aads (B) Tim) freor wgare ] waw

(C) UV frvoes yiare B use (D) UV fisvves gimre o weo

54,  The process of energy transfer from one trophic level to another is colled as
(A) Food web (B) Food pyramid  (C) Food chain () Trophie level

112} 10
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1 i e oo e (e e o1 w0 A i e —

(A) WS (B) Witwme PG (C) < =R (D) =) @
o ufrurend & wfee o Teer git wRaE st e e Iuiel s B —
(A) Wres et (B) wregw fomiife (O)@iss w3aer (D) wred ®

55.  Deserts harbour the following types of plants
(A) Hydrophytes (B) Epiphytes (C) Mesophyites ([3) Xerophytes
ST ¥ Harem TR «iren Tny v 5 —
(A) SEETRED (H) afermb (C) NG (1) CEaTFED
L 1 T B e e -t
(A) Hydrophyies (B) Epiphvies (C) Mesophytes (D) Xerophytes

6.  Mangrove plants have the following chamcters
(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) Mone of thege
wprApaTS By TapeE s -
(A) WP (B) g (C) O !Q\}q-m @TADE =7
= e e 81 - (\(é

(A) Pneumatophores (B) Fleshy stems (C) Stolon ‘@ (I3} I"Fﬁ qff g+

57. A species confined only to a particular area is called as \/
(A) Epidemic (B) Endemic (C) Pas - L (D)) None of these

a6 =ef® g%t R s Fnas g o T
(A) alPrsfie (B) wensfin (D) S8 IS 7

38,

(B4 T ¥ (UAE)
(C) \=ye st (UK) (D) frer gw (Egypt)

59.  Algal Blooms are connected with
(A) Biomagnifications  (B) Eutrophication  (C) Trophic levels (D) Producers

(taETie wWie wifhTETe (Algas Blooms) % 7 {fafs = -
(A) A (B) SdfEiees (C) =T (D) Besis

(A) FErEAfEseE (B) Sagifsdea (C) ZiiEs W (D) FeATEE

6. PANisa
(A) Primary pollutant  (B) Secondary pollutant  (C) Tertiary pollutint (D) None of these

1121 11 Turn Over
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61,

bl

63,

112]

MUCE-Col B

(A) sl v (B) 7 g
PAN =16l % ity —

(A) mfis geaum (B) wer yee (C) v wgmw  (Dyw ufy s
Which of the following is not true about HIV?
(A) It weakness the immune systom

(B) It accelerates the spread of tuberculosiy
(C) It is caused by a virus

(1) It is spread by mere physical coniant
HIV @ et Figames comi wfey sm
(A}ﬂmmﬁmwmfﬁﬂﬂ (B) 9 w7 cairste Brwacs ol 9

(C) afl =Zar ofFe e (D) it =it = wieay o fwfe 2n
Prafafrs ma a0 wft HIv ar v dee ,\%

(A) TH& immune system s1d gde i {\Q}

(B) %9Ha By (tuberoulosis) %t fiYene a=en \Q
(C) W HIERES] T 1653 \/\

(D) A\ yiRe T e {Z,
Biodiversity is importan! because

(A) We depend on it for food and utheﬂ@
(B) We enjoy it

O
" (C) We depend on it for medicine O
(3} All of these ‘&\
& tafoan oy ms - \}
(A) =T =ffw) ﬂwﬁﬂ a5z Bz frsaie
(B) «ff W A

{E}m§@a o A e = f

oa fafterar g ored w8

:A]_mﬁrmﬁaﬁ{mﬂmﬁmﬁraﬁﬁmﬁﬂ?ﬂﬁ
(B) TEEWT 800 aee anm e

(C) #1 aiwerant Pyl oo Bk e

(D) Buaw #d

Carrying capacity is

(A) The number of individuals environmental carmes

(B) The minimum number of individuals that environment cin sustam

(C) The maximum number of individuals that environment can sustain
(D) None of these

12
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T el (Carrying capacity ) 591 -

(A) aepfh =i wEal® 4% ew9 (Individuals) 92 508 IS
(B) rew 0 A& 43 7 b+ qme Ta0s #fi

(C) TEFEH [ G g s qF: b v e F90s i

(D) ard @uIHE

a8 & (Carrying capagity) W=Tel & g3
(A) ufdern wowr @ifSreEs®) aeEeET

(1) =ftrees! =T T
(C) mnfaemes sty e ot afdye awr 9o
(D) i@ |1 ui BET

64.  While travelling by bus, where will you throw the plastic wrapper from your packed food?

(A) Out of the window (B) Under the seat %m
b‘;& w in dusthin

(C) Beside the seat (D) Keep it in your

mﬂmmimqﬁmmmﬂmmmﬁ
(A) Siwe| Twom <

65. CFCs are used as

(A) refrigerants (C) aerosol propellants (D)) all of these
CFC 97993 33 —

(A) GfiFeitas (B) Epqeita 2

() ST Eziie (D) ST Faw08

CFC &) wa &8l &9 —
(A) MpoeETn (B) g=gerewH] (C) URTETs uofigman (D) it waw

66.  Anexample of an abiotic component

(A) Plants (B) Soil (C) Animals (D) Bacleria
witar Sy Baiee we —
(A) Bfgw (B) Wi (C) =01 (D) e i
aroifas wew w1 veer IEEe B
(A) FaiTE (B) #rEd (C) 7Yl (D) TTaT]

67.  The one-hormed rhinoceros is now restricted to which State?
(A) Maharashtra (B) Gujarat (C') Assarn (D) Uttar Pradesh
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T o el o O e Hfuie -

(A) TERIE (B) wore (C) HH (D) Tt

e fl fEr aifdd oaer s wE oftafiaa o

(A) HETIT (B) e (C) smam™ (D) BFR Waw
68.  All species on earth together with their environments collectively comprise

(A) Lithosphere (B) Hydrosphere () Atmosphere (D)) Biosphere

R L A R R Bl T T i i

(A) FeatPimm (B) SRS (C) b (D)

mmmmmmm@mmﬁmmm

(A) WS (B) FeTHrEH (C) aravas s}m
69.  The place where nuclear disaster took place ﬁ

(A) Washington (B) Chernohbyl (C) Bhopal _{ & (D) London

(1 SRR wfrite] s ieho — ’\

(A) @G (B) GraIRm (C) &,/ (D) =755

it v el gy fader ot R %,

(A) Washington (B) Chemoby! . Bhopal (D) London

0. The mamn energy source for the environ %
¢A) Chemical cnergy  (B) Tiin:l:cl@n‘rgy (C) Electrical energy (D) Solar energy

“ffFrarem e Wi Bes 5 - ’\

(A) TR wifis i (C) Fye =i (D) it e
URATEITRT qE aol EE, R
B 9t fgfve wuil (C) Agfe saf (D) ¥ @

(A) Tt ao

71,  Whatisd 3
forests into desert (B} Conversion of croplands into desent

(A) Convers)
() Conversi V huf' grassland mio desert (D) All of these
UFET Ny
(A) Fghm Farghiry e (B) *Prghis sghins i
(C) Togig wsfine s () S o
Wi @1 ) 7
(A) TTTED! TR BRI (B) PR wefim o
(C) "re e aefia sy (D) =nfers) o
2. Which one of the following problems is not created by noise pollution?
(A) Diarrhoen (B) Hypertension (C) Deafness (1) Irritation
THCHTS CaTwlD =i s S s w9

(A) wfEr (B) B wes () aftiares (D) e
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Frsifeiftae a1 wem wife enf wguwr &1 swve gas —

(A) WEr@ (Dinrrhoea) (B) 99 vardaTy (Hypertension)
(C) 1R E (Deafness) (D) femes @A (Irritation)
73. trees shed their leaves durmg dry winters
(A) Evergreen (B) Deciduous (C) Coniferous (D) Thom forests
1S HeaE wdpabl =8 —
(A) foasgen (B) csFrgum (C) ™ (D) 755 7o
TEEG gl RwTEH T wive -
(A) TETIETR (B) S&-aI (C) gftrantay (D) Wi&T e
4.  Which one is nature's cleaner?
(A) Consumer (B) Producer
(C) Symbionts (D) Decomposers and Scavengers
Firsre @l egfen «Rwms "\
(A) 17 (B) e () Fremeb ‘\%}ﬁm“am
T T e — \\Q
(A) TR (B) ST (C) Tk ; (D) aMered A arwTe
75.  Extensive planting of trees to increase forest cover i§ called
(A) Agroflorestry (B) Afforestution orestation (13} Social forestry

76.  Air pollution is severe in (/)
{A) Metro cities Qb ustrinl areas () Densely populated area (D) All of these

Y T I
(A) ST (B) Fremeps
(C) W B (D) atwa Fawog
e 9 UEUYT—HIET —
(A) HETFFESH) (B) st SaEe
(C) 31y Sreey Wy S (D) Sugee ¥4
77.  Animal dung is waste
(A) Biodegradable (B) Toxic (C) Non-biodegradable (D) Hazardous
=19 qf) o ejmie el —
(A) Earfae (B) Frae (C) w-Fraffrme (D) i o
TYETH T HEY B
(A) o AfRFEeig (B) g (C) sl ARFsTia (D) TaEms

1121 15 Turn Over
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T8

19,

81,

1121

Green Revolution is assoctated with

(A) Aquaculture (B) Pisciculture (C) Agriculture (D) Senculture
wqw e um wow Tl -
(Ayuramnstenm (B) 6w (C) 519 S (1)) oI5 BT
BT wwifes T o —
(A)wmeT westeg (B) e el e (0) ot R (D) Yerrard) fe
Bears are usually hunted and killed for their
(A) Teeth (B) Skin (C) Nails (D)) Internal orpans
CH 0 ) ST T i -
(A) W= (B) 5% (C) 7
wige! e ol gen w9 s e nfte -
(A) STcTehT &l (B) BT&ETE] # Al
(SELEAREI (D) e (sl
The complex network of inter connected food chains is ﬂﬂl}l_
(A) Trophic level (B) Food Web (C)E -yl- gical Pyramid (D) Ecology Chain
IR C G e feTere e - C?)
(A) TRk (B) ¥ e \&M‘Eﬁﬁﬁmﬁ‘ﬁ (D) FrasiEs «as
T ATl SIS WS- @E @ & afre 7
(A) efbs K . (B)®Wra Sird
() et fr Q&\ (D) TRy s
’29 '
{‘\
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UNIVERSITY OF NORTH BENGAL
B.Sc./B.Com. /BBABCABBA(TAH) 15t Semester Examinations, 2018

ENVIRONMENTAL STUDIES

AECCENVS
Time Allotted: 2 Hours 30 minutes Full Marks: 80

The fipnires in the margin imficate fiell marks.,
Camifidates showld answar in thewr ovn words and adfere to the word limit as practicable

- [ tnstruction__ )

The candidate should indicate the carrect Roll Number, Registmtion No,, Course
the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated

responsible for iL °
Each question has four alternative answers, The candidate has 1 MI}I‘ one¢ circle/bubble on the

Answer-Sheet using black/blue ballpoint pen indicating the cormect answer own below, If more than one
answer / option is found darkened, then the question will be treated -and will not be evalunted.

.Emu:rplu 9000 %
Answer all questions: / 0 o Tas wa: % ) Iy e

. Abrotic environment does not include O
(A air (B) watler (C) decomposer (D) soil

stfarares e Bewmefm wog fpfh

win Booklet SET on
wdidate will be solely

(A) A (D) giaw)
st guiaeer g 9
(A) &Y (D) ATE]
r B Which of the ng; is not an air pollutant?
(A) Smoke (B) CO; (C) Nitrogen () Sulphur Dioxide
(A) cah (B) CO; () *TiELiE (1Y) Freqas SiEwEs
Preffefe & a1y 9gu® B —
(A) 5l (B) COs
() AATEE T (D) TP —BTE— 3 aTES

3. Camer of Dengue disease 15
(A) Aedes mosquito  (B) Culex mosguito (C) Anopheles mosquito (D) Housefly

(Cy @i = (D) Wi

1321 I Turn Owver
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#T IO HAES 5 6 —
(A) UTEwr ey (B) TIeIFT e (C) wHIsfore w=ev (D) Fam

4. Which of the followmg is a odegradable waste?

(A) Plastic (B) Polythene (C) Glass (D) None of these

fFrfElRsaEm g cemi Tesrnarte Tl -

(A) #ifDw (B) =i (C)%le (D) AT CFII0E =0

Fr=iferitan gm ez gael daftrefa a3g 81 -

(A) =ITite® (B) i (Cy T (D) & af #g=
5. Energy 1s the driving source of an ecosystern. [t primarily comes from:

(A) Cycling of materinls (B) Sunlight

(C) Photosynthesis (D) Heat hiberated d:f*spimﬁun

arrery wiea o U emfmere wie - (b

(A) BIFFIE il Bl oo () G Coie™

(') FCASFRCE (ML (1) i wietefer urm

gwl urfefRefera w=m1 o €1 o Frs wusr g
(A) tgrela sfiaamare ;

(C) TS
. Process of photosynthesis is found

(C) consumers (D) top consumiers
() v (D) =i =i
(C) SUATR (D) waTea IuwTH

7 gy flow in the ecosystem 15 about
(B) 10% (C) 50% (DY 100%
LA e S 9e —
)%, (B) 30% (C)o% (D) 300%
YRR T 99 warEw w1 FEEEn s —
(A) 1% (B) 10% (C) 50% (D) 100%
8, The direction of energy flow is
(A) umdirectional (B) bidirectional (C) cyelic (D)) none of these
i ericzs afegy o -
(A) il (B) f-u
(C) =igadis (D) G078 @ADE 7
gt wared R o @ -
(A) T (B) fEwad (C) i (D) § #gA
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9. Trophic levels are formed by

(A) only plants (B) only animals

(C) only camivals (D) food chain linked organism

o wa oo oy -

(A) cweria Bigw wmi (B) RIS WA Wi

(C) =i W@ (D) T - FRCHIISTN SO Sl

yifte® Favsl oA Y -

(A) Bae Igfe g5 (B) Fae 9y G

(C) Had JramEr g (D) TEa swen Sfavs) Wi
10,  Phytoplankion are

(A) producer of forest (B) producer of lnkes

(C) consumer of sea eco-system (1)) omnivores &

FIELOIRITSG 2] —
(A) SR S (B) BL#a Bav(hip

11.  Red panda. o highly endangered species is found inwiieh §
(A) Costal region % Frr
(C) North-Eastern Himalavas
mmees, ol Fem ermifE, w1 enem am

(A) 7353t Borgren (B) s Rt e
HIGEE! A T ST g
(A) T &3

() Se—gdia fRarer (b
oA

12, Asian elephant is gered because it is being killed for
(A) Skin A {B) Musk (C) Ivory (1)) Fur

i sl v ewife s aff s e -

. 3

(A) STIBH &%

‘ (B) T8 Tej (C) #irza wie) (1Y) e )
uitame wrell favma woal ) Fre s aaan s e -
(A) BTET (B) el (C) BrefTaEfe (D) A
13. Anexample of nataral pollution 15
(A) Forest fire (B) Natural organic deciys
(C} Voloanic eruptions (D} All of these
a5 {b drpfis s SHiges ma —
(A) #iat=e (B) T wiie e
(C) s e (D) T g
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I ias WEUY @ SEE B —

(A) ST (B) wipfaw omfys sa  (C) sy RAese (D) @ v &
4, COD stands for

(A) Chemical oxygen demand (B) Carbon and oxygen demand

(C) Chimate of deserts (D) None of these

COD-7 54 511 -

(A) Chemical oxyvgen demand (B) Carbon and oxygen demand

(C) Climate of deseris (D) e (canTiE =1y

COD "= & 3w 7

(A) Chemical oxyeen demand (B} Carbon und oxygen demand

(C) Climate of deserts (D) ®EF 9= BTg= 7
15, Water pollution is caused by @

{A) Carbon dioxide  (B) Fertilizer (C) F.Mi\o& (D) Fossil fuels

AL e T N

(A) e (B) I (C) PANV (D) Sy =)

Gl WEWUIET ST B — @

(A)TTdA 81§ a@aEEE (B) Fdw@ %PAH (D) witares g==

16,  Spraying of DT to kill insects causes p

(A) Arr (B) Water (C) Soil (12} All of these
" Fiberers e Tam v 99we DRT-Peys el g -

(A) 3 : (D) e e

fise1 srfed DDT

[(A) AT (D) Taere o

17, BOD is used for &umm of
(A} Atmospherig pgliution (B) Thermal pollution () Wetland pollution (1) Nuclear pollution

(C) wTgEE e (1) it e

(Cysmgsfd gguer (D) uwsm] g
IR,  Soil pollution is capsed by

(A) Industnial wastes  (B) Agrochemical (C) Detergents (I3} All of these
! st e 2 -
(A) srmReEE ae  (B) ghelre gemfer e  (0) fEbmoeed (D) oy FisnfGE
HICTRT WEWUTEE| R &9 —

¢ (A) dreifr wiEwES (B) B advs (C) feevte (D) S &4

19.  Aquatic |ife is damaged by
(A) Sound pollution  (B) Thermal pollutton  (C) Air pollution (2} All of these

1321 1
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20,

21,

22

1321

GO e T T G R ) -

(A) - (B) S1*u-set (C) A2t (D) wiwa #awoe
oI wiraeTeg SR gl —

(A) & aguoTs (B) ardia wEeTe (C) @ wgwvTel (D) Fudren wa

Causes of solid wastes are
(A} Urbanisation (B) Use and throw culture  (C) Over population (I All of these

i3+ AT W 2 -

(A) ST (B) wams g Woskre amn () welsreas (D) it Fae g

B SEYNET BIROEE B —

{A) TESTET (B) T=Taq #Af T SyeT

(C) e 9fa (1) TUITE 4T

Minnmata disesse is caused due to pollution by @ﬁ

(A) Lead (B) PAN (C) Mercury

Gl sl i fimafst eiorm efsia g Fofest - {

(A) Fi0 (B) PANM (C) =it mwlsn )
Minamata 07 Frefafle wgwre R g-a - \/

(A) Lead (¥Yw1) (B3) PAN Q‘ () 50+
An example of natural disaster 18 ‘T&

(A) Bhopal gas tragedy (B) Chemobyl dlﬁﬂﬂll\&

aafl el R G 2o — O

(A) 9 M0 0 (B) (TS

wﬁmwmwﬁr;\
(A) M= = =JE (B)

m collapse (D) Earthquake

(C7) Fremralre [Feafm (D) Shiae

(C) dfe wiRs=Tel (L) HEETa]

(I3 Narmada
(1) =Wt
(B) W (C) HTad (D) #dar
The biggest nuclear aceident ocourred in
(A) New York (B} Bhopal (C) Chernobyl (D) Beijing
waze e piba wibfes, e o e -
(A) FE e (B) Bi# (C) (5ETras (D) cafErn
FagT g won] geea fretaian vee g e EFa —
(A) =] A (B) quT& (Cy ==t (D) afers
The main cause of aod min 15
(A) O: (B) H,O (C)CO (D) SO,

5 Turn Over




(C)CO () 50

(B) 9T+t
(D)) U6 EIE IES
26, The first National Park established in India in 1936 i%

(A) Dudhwa National Park (B) Rajaji National Park

(C) Jim Corbett National Park (D)) Kaziranga Nutional park
ROl HE SETET 2 S T s B -

(A) Jirew s T (B) e ety T

(C) Ty warab sty Twir () i il

W 1936 w1 wenita qyw v wften 9O - @

(A) gurem wifiga =
(C) Fas wrde wites o

27. A disesse not caused by water pollution is

(A) Jaundice (B) Choler
GBI il -l s astaer web = —
(A) Wi (B) T \Q’) €C) A% (AIDS) (D) =
el W9 R AT 9§ — <>\
_ (AyerE (B) & (C) AIDS (D) =1
28.  The lowest layer of :E.tmaﬂph" is
(A) Mesosphere (B3 Stratosphere (C) Troposphere {D) lonosphere
3 B (C) (=i (1) S
& —
(B) stratosphere (€') troposphere (D) Tonosphere
29, | 'virﬂm:]ﬂnt{ﬁumﬂﬁunj Act. come into force in
(A) (B) 1996 (C) 1986 (D) 1988
(A) vass & (B) $ant s (C) Swtris Fs (D) St
it gataRr e s s aitve T -
(A) T 1976 (B) 49 1994 (C)HE7 1986 (D)) 9+ 1988
30.  Covering the soil surface by straw, leaves or grasses is known as
(A) Lenching (B) Mulching (C) Terracing (D} Crop rotation
. TTEwT TGS 4G, NS @ GO S s 2w 5
(A) Leaching (B} Mulching (C) Terracing (13} Crop rotation
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HIET@] FOEdlE Uid—ore o diagse 8w et Farend & wive —

(A) Falfers (B) weilerg (C) ofes (D) e
3l. All consumers ure
(A) Autotrophs (B) Conmivores (C) Heterotrophs (1)) All of these
Ha S e T —
(A) (B0 (B) WA (C) “arsTE (D) @rwa Heihy
il IudieE B —
(A) i) (B) AAEM (C) Ty (D) UG ¥
32,  The conversion of ammonia into nitrates 18 known as
(A) denitrification (B) nitrification (C) ammonification (D) nitrogen-fixation

agicaiFen WEHG - Wl e e o -

(A) fe-wEfifErats  (B) wEffE (C) =i s m RETe Lr
spfifmare srgden wuraen g1 g e —

(A) fEmsgians  (B) ATgSITthaaA () {fDFﬂﬁiﬁTﬁ fherae

Hed
S0

33, Muanter must be recyeled agnin and again by an ecological
(A) ecological pyramad (B) ecological
(C) biogeochermcal cvele ([}) cne u f oW
A ERE <o 7 I QICAL SIS a1 2 o ;‘; P
(A) argetiis Pl m]ﬁ*ﬂﬂuﬂﬂ Ww (D) i =i

ey sage gatad g o & et P —
(A) wiRfefeas fafs N (B) uiidftafes) aauidsn
(C) arayferaiaifiers @n "\\ (D) Fatt wams
3.  Anaquarium is an fig
(A) Aquatic (CY Artificial (D) Both (A) and (C)
G wpEET R
(A) T (C) FiEw (D) (A) G (C) T=7%
R (i)
(A) el (C) Bt (D) (A) 31 (C) g4
5. Plants that can grow in dry places ure called
(A) Hydrophytes (B) Mesaphytes (C) Halophytes (D) Xerophytes
% S e eine IR a0 -
(A) HinEwEs (B) CITHEED (C) SETEED (D) CWLaTaTED
qaEq e ane SgfgEverd e |
(A) BTESIHTEEH (B) fEpTEEH (C) TeTHEEH (D) SErESH
36,  The process that causes wearing away and transportation of particles of rock or soil is called
(A} salinisation (B) soil formation (C) erosion (D)} landslide
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(A) ¥ (B) &= s (C) wiiream (D) ¥
wﬁﬁmﬁﬂwmthﬁmuﬁmﬁm
(A) FFavfr) (B) AreT Pt (C) -7 (D) g

37. _ Isused in measuring the magnitude of carthguake.
(A) Barometer (B) Seismometer (C) Anemometer (D) Thermometer
S er SiEe] o s e 51 -

(B) et (C) =i (D) Wil

e A e . B -
(A) FRAes (B) Rreifaes (C) Tl fHes (D) iy

38  The biosphere reserve lies in Western Ghats. Q’
(A) Nunda devi (B) Nilgin (C) Hukn-.K (I3} Sunderbans
Western Ghals -a =#fs aonfisms Fers ==
(A) 7% ) (B) *hafE ( A (D) B

WiiAse AR &= ufEed o B —

(A) =1 & (B) *frafmi (:b ') AlEYE (D) Hrava

39, i5 conserved in Jaldapara S %
(A) Rhino (B) N:Igm (C) Hangul (D)) Crocodile

. TERE] wEtelE i el

(A} SR (B9 (C) T (D) ¥ 4@

ST @wy wefird e |
mr-’fm . (C) Efeget (D) e

40.  The phenomeg ~ iCumulntion of non-biodegradable pesticides in human beings
(A) Bio-mugnifie tltm (B) Bio-degradation (C) Bio-remediation (D) Bio-accumulation

‘“aﬂi‘ ' ) b 2 mﬁmﬁﬂmwmmmmﬂ_
WRRET  (B) AT (C) e (D) e fimes

TFRERET 1R araifEisas demaess wea TR afem g —
(A) FrEmiAfseT  (B) araifEddss (C) FAEHGE (D) I

4l.  The study that deals with the interaction of organisms with their environment,

(A) Etiology (B) Botany (C) Ecology (1)) Biology

e e fcer Sl @ o -

(A) Twm-Tow (B) Efgm-Fmp (C) Tra-Fwm (D) ST
o TV W qaieerE) sl sEwme g -

(A) BOfEmA (B) mRfefas! @ema (C)yaref Rema (D) shafrers
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42,

43,

45.

47.

1321

Mational Park associated with conservation one-homed rhinoceros

(A) Kazirangs (B) Ranthambore (C) Corbette (D) Valley of flowers
[ TG SR F0E e WE BHHD g —

(A) TiiEars] (B) ATATEER (C) F300 (D) &1 s B
uw ok e s g vy SuEf i e -

(A) BTAE (B) Trde (C) worersiie (D) Aol 3 e

Algal bloom results in
(A) Global warming  (B) Eutrophication (C) Salinisation (D) Biomagnification
D= @ 4 (Algal bloom) 23 s —

(A) PG 2Sis (B) FRSTGSAER o)

(C) ZBEDMfrE vl (D) R ﬁ

o B w - s

PARGILGR I (B) SAaofiam {E]W\Q ) AT
The resources that can be replaced by natural ecological ml\;ﬂnd

(A) Renewahle (B) Non-renewable (C ] B ; tihle (D)) Natural

& o WL 40 —
(D) ipfEs 7=

CaGED

The portion of the earth and its envy enit which can support life is known as

(A) Crust (C) Exosphere (D) Atmosphere
ol @ AT o e S B = Tl T v = -
(A) B-T9 AR (C) wrsfrr (e (D) agEes
Qﬁﬂﬁﬂﬁfﬁm | ‘qﬂhﬂﬁnﬁﬁmwaﬂﬂ?nﬁ-
(B) Siasvss (C) aldsas (D) TS

Zoos are les for
(A) In-situ conservation (B) In-vivo conservation
(C) Ex-situ conservation (D) Ex-vive conservation
ol e Gzt -
(A) EA-F] weame (B) T-TErE s (O) 9n-Fpwew (D) 9%-fors maws
FfegrEs I B —
(A) -3l wwmor (B)§-d wemor (C) vaw-wg W (D) ven—-dl |
" is the phenomenon in which the earth retains heat

(A) Adr pollution (B) Green House effect (C) Global effect (D) Land pollution
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#ff e wreria sra AT wie GG Wb el we :

(A) AR (B) -2 -ar§ (C)Fei e (D) gl
o gl armme agEeel B —
(A) 91 Hguw (B) 9 graw wg (C) Teltas T (D) % ugnor
48.  Ozone depletion in the stratosphere will cause
(A) Global warming (B) Increased incidence of skin cancer
(C) Forest fire (D) None of these

BB WS SreA R SWIRE U ] -
(A)FUTEs  (B) BIEIeR e el (C) WAFm (D) @owa FIAIE
HHET FaerHT snanTm e grast uftvm =1 e e —

(A) Teitaer afi (B) S9! d0aT (C) grarTs A{D]Tﬂﬂ?ﬁ B BE

49.  Wuter pollution is due 1o

(A) ngncultural discharges (B) se ther wastes

(C) industrial effluents ([3) ﬂﬂ%

ErET R e | -

(A) $1% wlee Tfe 7 m}iﬁmm‘-ﬁmﬁ; mﬁﬂﬂrﬂﬁr (D) g HasfhE
ulel HEquTeh] o 5+ — (::t;

(A) Fiw=a Frd g \ (B) |5t va ap anfipe

(C) sivenfhe wamg 0 (1)) FusTes A

0. On which date was the Elﬂ*kh
[A) July 6th 1974

onference on Human Environmental held?
JAugust 8th 1976 (C) June Sth 1972 (D) Dec 12th 1990

wEEI i _ o waies o1 Twalbos ot e —
(A) 248 1 LE TR (B) Ya4 A2 v 8 wpeeh
(C)saas 1t ¢l 0 (D) seae 12 33 % o
, 1874 (B) 8 37T%T W] 1976
o ¥ 1872 (D) 12 Bamar ¥+ 1980
51. Leader of “Narmada Bachao Andolan™
(A) Vandana Sivi (B) Medha Patkar (C) Maneka Gandlu (D) Mayilamma
3] FT6TE FTATH *1e e fagew —
(A) w1 e (B) o] #1fG (C) st anrfee (D) S22 ==
e awsl ameEtE w1 e @1 ]
(A) F==7 (B) ¥ ey (C) Frpet aey (1)) Frargar

ads  The cause of Bhopal Gas Tragedy is
(A) Methyl alcohol (B) Methyl Carbonate  (C) Methyl 1so Cyanate (1)) Methyl Sulphate

1321 10




UG/CBCS/B.Sc./B.Com /BBA/BRCABBA(TAHY I8t Sem./Environmental Stodies/ AECCENVS/2018

I T GG e e -
(A) Fuids wiferaes (B) @ e (O S wBrw-wmet (D) FeiEs wEeh

VITTE TATH ATHR T B & —

(A) Fr=ise STemTETe (B) Merrger wralie
(C) Pengs smaaTgIge (D) fenger wewe
53.  The first trophic level refers (o
(A) all herbivores (B) all green plants (C) sunlight () all anmimals

() R i (D) Fsre f]¥t|

(C) @ far :.D}%nﬂﬁ
sulting ash s

>

54.  The cutting down of trees and setting them on fire and raising crops

cilled
(A} Jhum cultivation  (13) Crop rotation (C') Terrace f ) Taungya System
eI (B0 S BTy (78 SIwle (4 ¥HE 61 39 amwﬁ
(A) ¥ 51y (B) ] wWiEa
T BT WA AT WA IETE] e
(A) (B) FHA EEET]
55.  World Environment Day 15 celebrated on <>\
(A)September 5 (B)Y June 5 (C) July 5 (D) May 5
o wfe foaw wifes 20 -
(A) &% 0T (B) & 1 (C) & EEmE (D) T
A gataww fRaw w=g F%
(A) 5 T (C) 5 afend (D) 5 wd
56, The first Internati nference on Environment was held in
(A) Rio de Jena * (B) Johannesburg (C') Stockholm (1) New Dellu
€ Nl Tt Fwewih oo SRR SAere e ae -
_RIC: (B) Cerigeam (C) Fosrar (D) s
vrfaverarfy ufgd] aFmanda e BE T o] et -
(A) R @ sfeey (B) SrETat (C') TR (=18 fEeen
57.  Most important group of decomposers include
(A) Bacierin (B) Fungi (C) Virus (1) Both (A) and (B)
(C) S8 (D) (A) @ (B) T=uE
(C) wTge (D) (A) & (B) gA

132] 11 Turn Over
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a8, Sources of iontzing radintions nre

(A) X-Rays (B) Infra-Red Rays (C) Smoke detectors (D) All of these
sreiiea @i s Boref g -

(A) Aeeai (B) ==rwiEs af (C) el Ferea ] swsaE (D) oo 7ahE
aEr faNmE |9 51 —

(A) @3 (B) 3Evn e (C) &3 T (D) Savn ud

59.  Eutrophication is a phenomenon which results due to
(A) Nutnend ennchment (B) Nutrient depletion () Estuary formation (D) Rock formation
“RELlRIT " WO 41 Teeifan swee ame —

(A) =z wiife (B) #f% e (C) HA QIS 91890 (D) Tt ot
WmﬂwﬁwmﬁlmﬁﬁﬁgﬁwaA
(A) Ui¥a o9 WaHs  (B) U@ dwd! &9 (O) Estuary A{D]Wﬁqﬁq

O

60, A food web consists of S
(A) A single food chain (H) M@ ependent food chain
(C) Many interconnected food chains (D4 AlLGSE these
GG I S —
(A) @b WPl % ) e i

(D) aow waelhE

(C) =Rr= T fye Hraral W%\@

(C) 3FF qTew Waws

(B) 3T W= e
CETIE (D) FURTE 78

6l.  Which will not cause tqbtmnsphﬂﬁu pollution?
. &m SO (C) CO; (D) CO
 nel) Gt Tl = ¢
(B) SO, (C) COy (D) CO
AYAEEHTT WG ERT
(B) SO, (C) CO; (D) CO
62.  Which one is not a renewable source of energy?
{A) Forest (B) Coal (C) Water (D) Biogus
s fe e fes Baw w0
(A) Trghi (B) 71 (C) & (D) t=nm™
Fr=tierfign srenfd Sale! adewrs |9 BT —
(A) i (B) Fga (C) wed (D) ATy

RN Soil erosion can be prevented by
[(A) Over grazing (B) Removal of vegetation  (C) Plantation (D) Increaging hird populntion
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wfiremrn @ wEm S o) -
(A) s st (B) Blgw Sovee (C) TP (D) #Fim
Arel adHvEd O it —
(A) SETeE TERvE N (B) &=l Freereagm
(C) wrafEam™ (D) ERTgEE T gy BT
6d.  The primary producer of a pond ecosysiem 15
(A) Zooplankton (B) Red algni (C) Phytoplankton (D) Floating plants
S0 PRI ANGECE ) Tt ape
(A) & Erebe (B) TS (o (C) Efgw et (D) BP B
fa nftRafad g awfs saEs -
(A) T =iETe- (B) ¥& Ual A

(C) FrEET AT (D) FaAres W@

65, The zone in which two ecosystems are united is known as \o
(A) Niche (B) Habitat (C) Emtyp\/ (D) Ecotone

QA HiG arges Ml 5, (7l w9 0l -

(A) it (Niche) (B) wifE f%@ﬂ’l (D) BL#ITH

ey WRRufRE o= nﬁmmrfwﬁ%

(A) Fres (B) #fde ) to) wereru (D) g
66.  The living organisms of a particular mgﬂ&nuwn as

(C) Lithosphere (D) Animal Kingdom

(A) Biosphere (1B) E-mm.c(\

a7sfh FafiR ey Sag o

(A) FEes % (C) e (D) < we

(GIE B Gl LG

(A) Shamesa \\ B) wawe (C) T (D) WA
67. ‘Chipko’ t t 15 related to

(A) Forest (B) Grasslands () Wetlands (I3} Livestock

“osican s foem How eeifeie —

(A) g (B) ggh (D) oha¥r=te

Ferresy et Wil Wi v —

(A) T (B) gorqfH (C) dmgyf (D) ws
68,  Which rock can be eroded by solution process?

(A) Granile (B) Pegmatite (C) Lime stone () Ophiolite

BT WRGTS (3 e g

(A) ATEG (B) (*PaHIED () FENCG (D) efirem¥h
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i AR SAMUTEIIET SR M= —

(A) U=ge (B) e (C) T TR (D) sferense
69,  The reasons behind lundslides in Darjeeling are
(A) Excessive ramfall (B) Earthquake
(C) Unscientific construction and dumping of garbage (27 All of these
i @ iR e werew e e -
(A) Ty Jaeme (B) ghw=
(C) wretivre ol & s goem (D) e sl
qIfolferam & —Faamufem WHmes g —
(A) Ffergite
(C) ardsnisya Fsfor s fen o €7
70. Which one is a nop-communicable discase?
(A) Cancer (B) ALDS ([3) Tuberculosis
(AT T i g
[A) AT (B) AIDS (D) R
Pyaferftan a1 91 s B9 —
(A) TN (B) 7&H (C) vl (D) 8T
71, The major step in *The Wildlife F&\ﬂu At 19727 18
- (A) to conserve wildlife (B) to restore wildlife habitat
(C) to rehabilitate the wi (D) 1o protect the wildlife
‘The Wildlife Protect: '\ | 972" i aa(l e e B -
A (B TR TR YA

(D) i e

7 1972 &1 WHE ®EH & —
(B) a=aita gom] I dETE
(D) FElaEwE d6rd

Mt [nternational Conference on *“Wetland Conservation” was held n

T,
(A) Ramsagar (B) Ramsar (C) Ramsahar (1) Stockholm
stu] SPEEE GG S HUHE wes G -
(A) TR () AT (C) 7reiEd (D) FoasTs
ST T #1 gy aeadiien sfdws S e aee b —
(A) IHETTE (B) IHHEIR (C) TTHETER (D)) TETwET

73, Forest helps in mitigating global warming through
- (A) Heat radiation (B) Heat absorption (C) Transpiration (D) Photosynthesis

At c8 +hste g PG eefe o —
{ A) ST (B) =i () A= (1)) HCFFERIR
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ST @ TANE g ] YRS W T —
(A) et PfFrognn (B) mATET g (C) andievogr (D) IETeEREE Ny

4. Mon source of nowse pollution

(A) Urhanization (B) Industrialization
(C) Photochemical smog (1)) Both (A) and (B)
LA S BeA
(A) =R (B) P
(C) = Al e (D) (A) &3 (B) Tend
A WM e e g -
(A) ¥y (B) afrenfiavo
(C) weprafra wremefian s (D) (AYETF (B) 59
75. A recent technigue for the study of vegetation Q’

(C) f_i-.murtic: Information analysis (D} Observati
TE HirTm s W e e -

(A) =R =19 (B) FCaG o

TR ACTAFTHT e BIAH] Waiea ﬂmrlm'ﬂm
(A) BTETHTEHY

(C) Srfes gepoi Tefaitm

76.  Deforesttion generally decrenses

(A) Rainfall (B) Soil m@

(A) Photography (B) Remote nﬂm:nf&

(D) +TaT

(C) Drought (D) Global warming

Foriwe fene Fiaee s 1 o -

(A) JfR+e (B)
74 fa=mre TmEEvE ~
(A) @l %Hﬁﬁ T (C) T (D) TeiaorEES

77.  Both power apd gimuee are provided by
(A) Thermal pla (B) Nuclear pliant (C) Biogas plant (D) Hydroeleetric plant
@ @ Fi TSL Sl B
(A) Bl (B) e = m () U v (D) ==l @
nifts aif9 =&l (W) g8 W W W 99 —
(Ayamfty sia=mre (B) FEYa ddasae  (C) aravarg fidsare (D) v daaae

() = (D) ST

78, Which one of the following is not a fossil fuel?
(A) Natum| gas (B) Petrol (C) Coal (D3} Uranium
freEReeER wpo @l @ arn geiE e
(A) =Fpfes (H) Ce (C) T (D) BECafww
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wivaren dwue fysfafaa & g -
(A) WTEfaE T (B) et (C) =TEET (D) G

79,  Lions are found in
(A) Gir Forest (B} Western Ghat (C) Sundarban (D) Buxa Forest

Pz et i —
(A) TR ey (B) #iemG wdempm  (C) T () 2] S
RE g o8 —

(A) F aw (B) uf¥=r) e (C) Hravar (D) 75T @9

80.  Hot spot is related 1o
(A) Niche (B) Ecological Pyramid  (C) Biodiversity (D) Ecolpgical Efficiency
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